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1. Macroeconomic context
I Latvia went through a brutal boom-bust-recovery episode

since 2000. (Blanchard, Griffiths and Gruss)
× An increase in GDP of almost 90% from 2000Q1 to 2007Q4,
× a decrease of 25% from 2007Q4 to 2009Q3,
× A recovery, as of 2013Q1, of 18%.

Figure 1: GDP and Unemployment in Latvia
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2007:4, followed by an increase to more than 21% in 2010:1, and a decrease since then, 
down to 11.4% in 2013:2.     

 

We focus on six aspects of the story:2  

1. What triggered the boom?   Our answer: EU accession and belief in convergence to 
EU per capita incomes, cheap funds from foreign-owned banks, and optimistic 
expectations.  The boom was healthy at the start, but, like many booms, increasingly 
bubbly and unbalanced at the end. 

2. What ended the boom?   The end came in two steps.  First, starting in 2007, a 
slowdown, due to rising inflation and loss of competitiveness, and tightening credit 
reflecting increasing worries by banks about their loan book.  Then, at the end of 
2008, a collapse due to the world financial crisis, leading to a sudden stop, a credit 

2  A lot has been written on Latvia.  Two very relevant references, which look at the various aspects of the 

boom and the bust, and from which we have benefited, are by Aslund and Dombrovskis (2011) and the set of 

articles in EU (2012). 
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Figure 1. Latvia: Real GDP and the Unemployment Rate (sa), 2000-13
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1. Macroeconomic context
I Since 2005, the Bank of Latvia is following a strict policy of

pegging the lats to a basket composed of the US dollar, the
euro, the pound sterling and the Japanese yen.

Figure 2: Euro-Lats exchange rate 27/11/2013 21:07Gnuplot

Page 1 sur 1file:///Users/franckportier/Dropbox/Rapports/2013/ECB/eurolats.svg
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1. Macroeconomic context

I The recovery has been made possible by

× internal devaluation
× fiscal austerity
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1. Macroeconomic context

Figure 3: Internal devaluation - Total economy (cumulative change)

22 
 

evolutions are quite striking.   The adjustment of ULCs was fast and substantial.  By the end 
of 2009, ULCs had declined by close to 25%, and they have remained roughly stable since.   
While wage cuts played a role initially, over time the reduction in ULCs has come entirely 
from productivity improvements.  
 

 
 
What matters however for competitiveness is the evolution of ULCs in the tradable sector.   
The 20% decrease in public sector wages we mentioned earlier may have been essential for 
the fiscal adjustment, but was of no direct relevance for competitiveness.  So Figure 10 plots 
the evolutions of the same three variables, but now just for manufacturing.   The picture is 
again of a substantial and fast adjustment, but with much less of a decline in wages:  Wages 
in manufacturing barely fell initially, and then increased.  The adjustment has come mostly 
from an increase in productivity.     
 
Where did the increase in productivity come from?   It clearly came initially with labor 
shedding:  Employment decreased in nearly all sectors, an outcome reflected in the large 
increase in unemployment.   This raised the question of whether the productivity 
improvement would be long lasting, or reflected for example credit constraints forcing firms 
to take decisions they would reverse when credit improved.  This does not appear to have 

revised yet. Instead, data on occupied posts are obtained by surveying enterprises and government institutions 
and its extrapolation is not affected by the recent correction in population figures. 
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Figure 9. Cumulative Change in Wages, Productivity and ULCs
Whole Economy since 2008:3 (2008q3=100)
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1. Macroeconomic context

Figure 4: Internal devaluation - Manufacturing (cumulative change)

23 
 

been the case.   Productivity gains have remained, indeed, as Figure 10 shows for 
manufacturing, have continued.   Looking across subsectors within manufacturing, 
productivity continued increasing even in subsectors where employment growth has 
resumed.  
 

 
 
 
Before the adjustment started, one of the main worries was that large nominal wage cuts 
would be needed, and, judging from the evidence from other advanced countries, this would 
be a slow and difficult process at best  (as it has indeed proven to be in periphery Euro 
countries).   The increase in productivity made this less central of an issue, as, other things 
equal, smaller nominal wage cuts were needed---and smaller nominal wage cuts were indeed 
achieved.   
 
Still, the large divergence between productivity and wages raises the question:  Why were 
productivity gains not matched by wage increases?  Clearly, the large increase in the 
unemployment rate, weaker unions, and limited employment protection, must have played a 
central role.  So must have the 20% decrease in public sector wages which was part of the 
2009 fiscal adjustment. 25   Other factors, specific to Latvia, were also likely at play, although 

25   See the next section and the web annex for the results of estimation of Phillips curve relations.  The time 
series is however too short to reach strong conclusions.   A Phillips curve specification, allowing for an effect of 
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1. Macroeconomic context

Figure 5: Fiscal austerity

19 
 

 
The first is the increase in the headline deficit in 2009; but given the very large decline in 
output, this corresponded to a reduction in the cyclically adjusted deficit.    
 

    
 
 
The second is the small decrease in the cyclically adjusted deficit in 2009, computed 
excluding bank restructuring costs (which affected mostly the budget in 2008): 1.4% versus 
the bottom up 8% number given earlier, based on government measures taken in 2009.  This 
points to the difficulties in measuring cyclically adjusted deficits under such conditions---and 
thus the extreme care that must be exercised in quantitative exercises.  The problem in this 
case is not so much the measurement of the size of the output gap, which we discussed 
earlier; so long as measures of potential output move smoothly from year to year, changes in 
the fiscal position are not very much affected by potential output measurements.    
 
The problem comes from two sources.  First, the elasticity of various budget items to 
activity:  For example, the adjustment for the output gap can be misleading if some taxes 
depend on domestic demand, and domestic demand and output move very differently (as they 
did in 2009, with domestic demand contracting much more than output).   Di Comite et al 
(2012) conclude that correcting for the right elasticities implies up to 3 to 4% of GDP in 
2009 more consolidation than the 1.4% reported in the figure. Second, and going the other 
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1. Macroeconomic context
I After years of large trade deficit, the recession has been

accompanied by a sharp trade balance recovery

Figure 6: Trade balance

6 
 

by a large shift towards foreign goods, leading to an even larger deterioration of the current 
account balance.  (Figure 2 plots the evolution of exports, imports, and the trade balance). 
Part of the shift probably reflected the increasing real exchange rate appreciation (more on 
this below).  Part of it may have also reflected a shift towards higher quality foreign products, 
an issue relevant when we look at the current account adjustment later.5 
 

 
 
 
This current account deficit was easily financed, but with a worsening in the composition of 
financing over time:  
 
FDI increased from around 5% of GDP in 2000 to a peak of about 8% in mid 2007, before 
tailing off, perhaps an indication of worries about the persistence of the boom.   Even by 
2007 however, the stock of FDI remained relatively low, 20% of GDP, versus for example 
40% in Estonia. 
 
The rest of the financing was mostly provided by Swedish and other Nordic parent banks to 
their Latvian subsidiaries.  Banks’ liabilities to foreign banks rose from 30% of GDP in 2000 
to almost 90 percent in 2007. 

5  See Bems and Di Giovanni (2013)  
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2. The puzzle

I In open macroeconomics, an improvement of the trade
balance in recessions is typically a consequence of

× a decrease in imports caused but the decrease of absorption
during the recession

× an expenditure switching (demand shifts from foreign goods to
domestic ones) that is caused by a depreciation of the
exchange rate.

I The expenditure switching channel should not be seen in the
Latvian context as

× There was no external devaluation
× The internal devaluation was only partly transmitted to prices,

leading more to an increase in margins for firms. (quoting
Blanchard et al.)

I Why was the current account improvement then so large ?
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3. Income driven expenditure switching
I Assume that consumption of domestic and foreign products

are given by

Cd = Y εdy

(
eP?

P

)εde

C f = Y εfy

(
eP?

P

)−εfe

with all elasticities being positive.
I Hometheticity of preferences implies

εdy = εfy

I so that
Cd

C f
=

(
eP?

P

)εde+εde

I With homothetic preferences, there is no expenditure
switching absent of variations in the real exchange rate.

11 / 19



3. Income driven expenditure switching
I Assume that consumption of domestic and foreign products

are given by

Cd = Y εdy

(
eP?

P

)εde

C f = Y εfy

(
eP?

P

)−εfe

with all elasticities being positive.
I Hometheticity of preferences implies

εdy = εfy

I so that
Cd

C f
=

(
eP?

P

)εde+εde

I With homothetic preferences, there is no expenditure
switching absent of variations in the real exchange rate.

11 / 19



3. Income driven expenditure switching
I Assume that consumption of domestic and foreign products

are given by

Cd = Y εdy

(
eP?

P

)εde

C f = Y εfy

(
eP?

P

)−εfe

with all elasticities being positive.
I Hometheticity of preferences implies

εdy = εfy

I so that
Cd

C f
=

(
eP?

P

)εde+εde

I With homothetic preferences, there is no expenditure
switching absent of variations in the real exchange rate.

11 / 19



3. Income driven expenditure switching
I Assume that consumption of domestic and foreign products

are given by

Cd = Y εdy

(
eP?

P

)εde

C f = Y εfy

(
eP?

P

)−εfe

with all elasticities being positive.
I Hometheticity of preferences implies

εdy = εfy

I so that
Cd

C f
=

(
eP?

P

)εde+εde

I With homothetic preferences, there is no expenditure
switching absent of variations in the real exchange rate.

11 / 19



3. Income driven expenditure switching

I Rudolfs and Julian find a substantial amount of expenditure
switching.

I This is possible with non nomothetic preferences

I Assume that domestic goods are “inferior compared to the
foreign ones”

εdy < εfy

I then
Cd

C f
= Y εdy−εfy

(
eP?

P

)εde+εde

I With non nomothetic preferences – i.e. εdy < εfy , there is
expenditure switching when income goes down.
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4. Empirical analysis

I Rudolfs and Julian do an amazing analysis of scanner-level
data for food and beverages and find :

× imports contraction is by 1/3 accounted for by expenditure
switching accounting, while the relative price of foreign goods
increased by 4.4% only.

× switching took place within narrowly defined product groups,
while the relative price adjustment was across product groups.

× Within a category, unit values of domestic goods were on
average lower than those of comparable foreign ones.

I They estimate a demand system with possible non
homotheticity and found that there is indeed an “relative
inferiority” of domestic goods.
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5. In a nutshell

I Consider the (fictious) product group “alcoholic beverage with
bubbles”

I Pre-crisis basket :
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5. In a nutshell
I The model success in one graph

Figure 7: Actual and estimated growth on the share of foreign
goods in expenditures

Figure 12. Model Estimated and Actual Within Components of Expenditure Switching
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Notes: This figure plots the within component of expenditure switching observed in the data and estimated
using the model based on (8), for the CES and Non-homothetic models. The shaded areas are two standard
error bands, calculated using a non-parametric stratified bootstrapping procedure.
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6. Where to go now ?

I It is inter temporal wealth more than income that matters fro
demand :

× asset prices went down
× future income growth was revised downwards

I Permanent income might have fallen more than current
income, which would reinforce the expenditure switch.

I The credit crunch in from 2008 to 2011 has also increased the
shadow value of one spent lats – or decreased income deflated
by the full value of a lats.

I Commentators also mention an increases in perceived
uncertainty ( ? ? ?). If so, this also reduces the share of income
devoted to consumption.

I Those different effects call for a permanent income model in
which credit constraints and expectations would have an
important quantitative role.
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